2022812H4H (H) Ya=T7EAERY 27K KgAK T —)b

JEK B

By 50m HHB

K £ i I E208 =g L A e

Wi R=ih FH APPSR INT: 4 10% 32.74

BN BX FHAER INE 4 10% 32.57

b aRES Fh A8 INF 5 11%F 30.20

BIE ik FHAER INE: 6 12%F 30.57

KN B3 FH AT hez 1 13%F 28.09

BIF #5 THAER hez 1 13%F 28.39

LINEE YN~ FHASS th 1 13% 27.40

wilE R FH AR g 1 13%F 25.55

XK HEA TH AT hez 1 13%F Fhe

Al & Fh A8 (27 17F 25.35
By 100m AbE

okl AREE T A8 INE 5 11%F 1.07.72

wIF Bk FHAER INE 6 12%F 1.07.37

KN HEE TH AT e 1 13%F 1.03.66

wifs R FH AR g 1 13%F 57.87
By 200m HHFE

R PEER TH AT the 2 14%F 2.07.88
By 400m HHFE

R REER FH ARG g 2 14%F 4.43.59
By 100m HikE

Wik R FH ARG s 1 16%F 1.00.70
BY 100m N¥754

e RS T AHIE ik 1 16%F 1.01.73
BY 200m N¥T75A

e RS T AHIE kg 1 16%F 2.15.86

7 50m HHE



kil

5 L

Vit <BH

thip BfR¥

R el

s

it

AR

LI

JITH

~FH

bR

I

zbH

TR

Y

ik

BRI

P&

HEORD

&7 100m AHE

thip BEfR 7

fidel

WA

A

JITH

~FH

z5

i R

=y

BRiA

5l

g &5

i

FRER

il HM T

bR 4

I FH

izt

e

RBORO

¢ 200m HHB

i <5

I FH

k&

THAER

THAER

FHASS

THAER

FHASS

FHASS

IHAER

FHASS

THAER

FH ARk

FHASS

THAER

FHASS

FHASS

THAER

FHASS

THAER

THAER

FH ARk

FHASS

FhASS

THAER

FhASS

THAER

FhASS

ThASS

THAER

N 3

INT: 4

INE 5

INE 5

INF: 6

INF: 6

INF: 6

INF: 6

e 1

et 1

rthz 2

rthz 2

wikg 1

INF 5

INE 5

INE 6

INE 6

the 1

tha 1

tha 1

tha 2

the 2

the 2

the 2

ik 1

e 1

the 2

9 ¥

10%F

11%F

11%F

12%F

12%F

12%F

12%F

13%F

13%F

14%F

14%F

16%F

11%F

11%F

12%F

12%F

13%F

13%F

13%F

14%F

14%F

14%F

14%F

16%F

13%

14%F

34.29

33.35

31.16

29.41

31.87

32.98

30.15

28.02

29.61

29.67

28.34

28.46

27.24

1.08.82

1.04.94

1.01.59

1.06.80

1.03.94

1.04.77

1.03.99

1.08.71

1.04.24

1.02.45

1.02.22

58.84

2.18.38

2.17.58



Wi f FH'4SS g 2 14% 2.17.55

Wi # Fh'4SS g 2 14% 4.50.27

kil B THAER INE 3 9F 41.03

miE B Y EEX ] N2 6 12% 33.48

i B FH'4SS N2 5 11% 39.86
e s FH'4SS INF 6 12% 39.94
13 Vg ThAER thag 2 14%F 33.75

131 Vg FHAER hag 2 14%F 1.13.88

13 Vg FHAER thag 2 14%F 2.48.25

miE B FHAER N2 6 12%F 32.93

kil B W EEN T INF 3 9 ¥ 3.03.68
g <A FTHAER INE 4 10F 2.55.98
e B FHAER N 6 12%F 2.39.83
CkE axsm VL=
K £ B & AR ¥ 797 Zv7 (AN
1k L R FHASS N 6 12% 28.20 28.20
2 ¥k Bk AR FHASS N 6 12% 1.00.90 32.70
3 ¥k ks Ak FH4SS INE 6 12%F 1.32.75 31.85
4 9k thep BEAR T FHASS INE 5 11% 2.04.59 31.84
S RE AxW00m VL=
K £ Hi & AR ¥ 797 Zv7 (AN
13k A % FHASS rhi 2 14%F 1.01.64 1.01.64

2 ik mdr f FH4SS g 2 14%F 2.04.45 1.02.81



3 vk Wk x<H FHASS hez 1 13%F 3.09.93 1.05.48

4 ¥k nHiE R FhASS hi 2 14%F 4.17.36 1.07.43



